I'man IMPACT Maker

2 | BE INNOVATIVE
e mRCmotion

BE OPEN MINDED

BE PASSION

BE ACTION TAKER

BE CURIOUS

BE TEAMWORK ORIENTED

- O » vV =

[EOHEREENFEm

INGENUITY CASTING PRECISION
TRANSMISSION PRODUCTS

mRC.....

Room 804 Building B | No. 108 Dongfang East Road | Lucheng Street | Jinkai District | 213025
Changzhou | Jiangsu | China
Mobile. +86 13641504319 | Email. sales@mrcmotion.com

MRC Shenzhen Branch | Manjinghua Kechuang Innovation Hub | No. 6 Songjiang Road, Songgang Subdistrict,
Bao'an District | 518105 ShenzhenlGuangdong | China
Mobile. +86 13861054319 | Email. shenzhen@mrcmotion.com

MRC Europe Office | Rohrlochstrasse 10 | 72336 Balingen | Germany
Phone +49 7433 278 38 13 | Mail: sales-europe@mrcmotion.com
www.mrcmotion.com

HAMONIC DRIVE




MRC.....

H=R

B 25 v ss s ep eI IBENINIDE BN IS SIS BRI 01
BB c:iiicininininin AR R AR AR R 03
B PER AR o o o o o om0 e e 09
B PETRRRERRUIN » v o o 5 i o o m m s e e e e B R B G @ e e 10
BORERETI R «» c2 spssvsmsms s g asismsmomasns vas 11
[0 ZLCSRFURER =+ v v v vv v v e e 11
(] ZUCDIRBEAETE 2 2 om m v m oo 3 oo om0 0 0 0 o ooy 9 e e 1 e 13
[ ZLESIRUIEREE v v o % o v v o w0 6 500 0 005 %0 0 9 70 0 Um0 O 15
[T PLHDREIMEE, « vp s Ty M s M sd sRERIEI Y §H BRI $ B Y 20
(0 ZLCS-MiniRFUFEGR « + v v ccvvve e iiii it 22
(1 ZLSFRIUPES 2 o n 45 smsmisma o smp@sms nh nmsmnmsms o 24
B AITHFREBI ¢ oc vmrmsmrn e wmmame A s e s e e 26
O ZLSSTRRMERIUMGR <+« cvcvrorsvrvsmsnsiosvensna, 27
O ZLHZLEOHRRFUFEGR oo v v v v e e 29
(] ZLSMERBERRNEER v rvrersdpdissssdensmsshnmsen 31
[0 ZLSGISRREMTITR ~ - mome rmemoame smomaima nwsmama wi 35
00 ZLSHRMIBBRFUFEGR - - -« v v v v vmmm i 39
TSR coiosws suswsms e iEIRs SWVEF @S EWEHE RS 41
O ZLCE-LMERAEEBARTIFSR - - -« - o v v v vt 42
[0 ZLCE-FMEMBMARTIFFR « - v ccccvvrrtvncnecncnsos 43
() ZLCE-GMEHEMRBARTIFTGR « -« -« v v v vmm e e 44
[0 ZLCE-RMPEBARFIFFS » v cvrvrsvemeeesnrnenen 45
B EEENEN iscci s iRIPEES iBINGEE FRINE A BN 4 46
(0 ZLCE-RPEEHRTERIUFEG ~ +» v vrvr s vrrons oo 47
BURTERITEEE v e o oo oo v o m b @ 3 5 0 B o 200 0 o 0 0 O 85 o O 48
www.mrcmotion.com

&I MRC......

= a2 8

RN~ mART
ZLCS &% ZLCD &% ZLHD &%
ZLHS-C-1ll &% ZLHS-C-IV &5 ZLHS-TC-Il &%  ZLHS-TC-1Il &%

o @O

ZLCS-MINI &7 ZLSF &7

THREFRARY

o/

ZLSST ZLHZL ZLSM ZLSG ZLSI
BRFRY  =ORBHNRY  REESERT ARG MR

RA=mART

& @

ZLCE-LM 585 ARY| ZLCE-FMRBRE A% ZLCE-GME#HZARY| ZLCE-RMEXTRT
Farmzay

2 |

ZLCE-RPIEEFAZRY

www.mrcmotion.com




Advanced
Manufacturing
Platform

SeHAIHIEF S

The lean assembly process and the pursuit of perfect
quality awareness have been deeply rooted in MRC motion.
Production efficiency and quality are strictly implemented to

high standards.

From technology to strength, to industrial support, to
manufacturing scale, MRC has always been at the forefront
of the industry, continues to maintain industry leadership,

and continues to expand its industry advantages.

o
JUHGI“}?&* |




Precision
Testing
Center

REAYEIN O

Provide a solid guarantee
for innovative research and
development

e sarr ey

7 CURRI AR R SL ORI

BRNB—ZTUMmEEZEAN, =R
MFROMmEAEERE, ESHRN
R, WFRESIMHRTNEESET™
BER, BERIEFRIEER.

We have a professional quality management
team, using scientific quality management
standards, with advanced testing equipment,
strict quality control of the quality of
products in all aspects, to ensure that
customers provide quality products.



=miti® Product Overview

Product features Description Reducer mizEliTesi588

=
FEtE R ZLCS = 14=50—C=I=8P
R ER AT B AN —ASLEY =5, BHLL Harmonic reducer is a new generation of practical products = il
T independently developed by our company, which has the following F? i 3 % ﬁ’\ iﬂl JJJ
= e main features.
T E =1 BEE ZL SIEMmAE.
3 0 High meshing rate High precision
0 =
Ll s e a0% HistE X, . T, NEE, SRBERSBIA12308. B CS: #EHE (CupStandard);
When the number of meshing teeth is over 30%, Zero backlash, small backlash, transmission e -
the torque is large and stable. accuracy up to 12 arc seconds. - HS: *?F "& mE ﬂ (H at Sta nda rd) j
B CD: E@E#E (Cup Dwarf);

FHT R B HD: FEEIEE (Hat Dwarf, B{RFH=H),;

No claw Precise meshing CS B SM: BHERHE,

iﬁﬂ'\%ﬁ%%ﬁltﬂﬁﬂﬁ. YRR R L REHh ﬂﬁmiﬁﬁ\ RE}J!JI\. #nnﬁo ' B SG: SR,

TREFEB o Low noise, low vibration and long life.

Pawl phenomenon easily lead to gear wear and [l Sl m |"|:T_| §§ ﬂ ;

shorten the wave generator bearing life.

B SF: BEA,

SE=ZChvalas CAvA T ; ,

Independent design Independent tooth shape RERE HERWRER NS

AR RRAEHT RN, ATTR AR, FIREROBSHFH 14 Mm# | S5 | 8 | 11| 14 | 17 | 20 | 25 | 32 | 40 [ 45

BAFER, ERAMFRUER T RIFREE 0. RFECLIRGRFEBICEFHBAF -

IERORGERRGR; IEBPIMELTEK. E?ibéﬁ)ﬂi FHEAARRARSRITZIH (iﬁ) 13.5] 20.5] 27.5] 35.6| 43.4| 50.8| 63.5] 81.3] 102 | 111

" : #ag ) %A , BRIOHABIEBRERLEE

Has the ability to develop and design new Rk ik AT o

products and non-standard products. The BIRR EEME S LRI TMER .

company can customize non-standard Based on the meshing theory, using sophisticated i ' 5

specifications and non-standard speed ratio advanced mathematical calculations, mapping 50 ﬁlﬁ tt : IE'H%“ j‘]30~. 50, 80, 100, 120, 160,

harmonic reducer products according to user theory, simulation theory and other advanced

requirements; to meet the personalized needs of technical means as the foundation; and led by a

users. domestic researcher-level senior engineer B C g gﬂ% g! : EI] E EE _I_ $ :SZ Y ;ﬁ F Frm ;% ;

(professor) team, successfully developed the first
internationally compatible kinematic meshing Tm C B TC : B5HEAH.
- - tooth profile of the trajectory.
Product application BOIE REE, WAMEDPRSARATLIER;
& B R +FEREETE, AABSELRRATFBRKME
...................................................................................................................................................................................................................................... : _‘T‘J'-ﬁﬁ :
ERMRBERGTL: TUNSEA, WEQSYE, BABREE. ORI, SR, ¥SETURRGHER. BR) B R FEPZE, GARBESPEORBTELERE;
BEN . ErEi. SEMRIM. (BN, XFEHISNEE. RRERESHMOLRARTESTAEL. : ;
], = 1 v Al

Harmonic reducer application industries: industrial robots, precision equipment instruments, radar communication equipment, printing = [Vﬁ; : 2k m iﬁ )\ g: > ﬁ IE *ﬂ' iﬁa )\ 2 g iﬁa )\ Em 2
machinery, textile machinery, semiconductor industry wafer transmission devices, printing and packaging machinery, medical equipment,
metal forming machinery, instrumentation, optical manufacturing instruments, nuclear Facilities and aerodynamic experimental research SP ﬁﬁiﬂ*& =
and other fields.




/ m Rc motion

99 ..

N
=
&)
wn
%
5l
30 3.8 8.5 6.5 16
50 5 17 6.5 32 =30 | 15000
14 80 7.3 21 10 43 8000 3300
100 7.3 25 10 49 =25 | 12000
30 8.5 15 11.5 28
50 5 31 23 66 =30 | 15000
17 80 20 39 24 84 7000 3500
100 22 48 35 84
120 22 48 35 84 o et
30 14 25 18 47
50 21 52 31 91 =30 | 15000
80 30 70 42 115
20 100 35 76 43 138 o sl
120 35 81 43 138 =25 | 12000
160 35 84 43 138
30 25 47 35 91
50 32 91 51 179 =30 | 15000
80 57 125 82 243
A% 100 62 146 101 267 3300 3300
120 62 155 101 289 =25 | 12000
160 62 167 101 303
30 50 93 70 190
50 72 205 102 360 n
80 110 290 158 546
22 100 124 312 202 618 b 2300
120 124 333 202 645 el R
160 124 350 202 645
50 130 375 186 650 =30 | 15000
40 100 254 551 360 950 4000 3000
160 286 612 439 1005 AL ek
50 130 375 186 650 =30 | 15000
45 100 254 551 360 950 4000 3000
=25 | 12000
160 286 612 439 1005

ali | .
www.mrcmotion.com

ZLCS &5

E P

=
(i
— ;t
;%aé 4 ;i{ -— —:Es
o
A
B* 410, 450, 45.50,, 5 4 620, 125 54
C 34 37 38 46 57 66.5
D* 7% 8% 7.9,0 6% 0 50, 6%,
E 27 29 28 36 45 50.5
F 7 8 10 10 12 16
G 2 2 3 3 3 4
H 3.5 4 5 5 5 5
I 16.5 16.5 16.5 18.5 22.5 24
J 4.5 4.5 4 4.5 5.5 7.5
K 12 12 12.5 14 17 16.5
L 0.5 0.5 0.5 0.5 I 1.5
M, 9.4 9.5 9 12 15 5
N0, | 17.6 19.5 20.1 20.2 22 27.5
00 h7 56 63 72 86 113 127
opP 55 62 70 85 112 126
OR, H7 11 10 14 20 26 32 32
0S 8 7 10 15 20 24 25
AT h7 38 48 56 67 90 110 124
OU H7 6 8 12 14 14 14 19
v . y 13.804 | 16.301, | 16.301 | 16.301 | 21.801
W Js9 . 2 4 5 5 5 6
0X 23 27 32 42 55 68 82
Y 6 6 8 8 8 8 8
Z M4*8 M5*10 M6*9 M8*12 | MI0*15 | MI0*15 | MI2*18
b 65 71 82 96 125 144 164
¢ 6 6 6 N 12 10 12
ad 4.5 4.5 5.5 5.5 6.6 9 9
f 6 6 6 8 12 8 12
e M4 M4 M5 M5 M6 M8 M8
ok 31 38 45 58 78 90 107
Om 10 10.5 15.5 20 27 34 36
T 21.4 23.5 23 29 37 39.5 45.5
0y 14 18 21 26 26 32 32

www.mrcmotion.com

14, 1TRIVM AN Hh TS 8

m R c motion

A B T

12



0@ ..cons

0@ ..cons

@K h7

13

N N
— —
O O
O ()
B B
50 3.2 10.5 4.3 21
14 8000 3500 | =30 | 12000 QA h7 55 62 70 85 112
100 5 17 7.2 32 B 25 26.5 29.7 37.1 43
E 23 24.5 27.7 34.1 40
50 10 21 16 44 D 2 : : 3 3
E 0.5 0.5 0.5 0.5 1
17 7000 3500 =30 | 12000
o . o o - OF h7 42.5 495 58 73 96
0G H7 11 15 20 24 32
OH H7 1 1 16 20 30
20 52 - = o o1 H7 12 14 18 24 32
J 31 38 45 58 78
20 | 190 %2 32 oA 8 6000 | 3500 | =30 12000 OK h7 55 62 70 85 12
L 5 5 5 5.5 5.5
160 25 59 31 89 M 1.7%., 1.7%, 1.7%, 2.6%, 2.5%,
N 14.8 16.3 18.8 23.7 30.6
5 5 - o o 0 40, 5%, 5.2%, 6.3%, 8.60,
OP(PCD) 17 21 26 30 40
OQ(PCD) 49 56 64 79 104
25 | 100 42 162 19 Lis 5500 | 3500 | =30 | 12000 R P 10 1 '8 18
oS 3.4 3.4 3.4 3.4 4.5
160 43 115 70 196 b 16.1 16.1 17.8 22.9 23.5
T 4 4 4 4 4
50 49 143 70 249 U M3 M3 M3 M3 M4
OV(PCD) 25 27 34 42 57
100 91 225 143 401 W 10 8 8 8 10
32 4500 3500 —30 | 12000
X M3*7 M5*8 M6%9 M8*12 M8*12
38 45 53 66 86
160 91 249 143 420 oY
Z 3 3 3.5 4.5 5



N
—
T
»
EA
2l

15

6‘ ZLHS &5

6. ZLHS %5

50 5 17 6.5 32 =30 | 15000
I 80 7.3 21 10 43 8000 e
100 73 25 10 49 =25 | 12000
30 8.5 15 1.5 28
50 15 31 23 66 =30 | 15000
17 80 20 39 24 84 7000 3500
100 22 48 35 84
120 22 48 35 84 e | J2000
30 14 25 18 47
50 21 52 31 91 =30 15000
80 30 70 42 15
i 100 35 76 43 138 8000 2300
120 35 81 43 138 =25 | 12000
160 35 84 43 138
30 25 47 35 91
50 32 91 51 179 =30 | 15000
80 57 125 82 243
29 100 62 146 101 267 3900 3300
120 62 155 101 289 =25 | 12000
160 62 167 101 303
30 50 93 70 190
50 72 205 102 360 =m | e
80 110 290 158 546
% 100 124 312 202 618 4500 8
120 124 333 202 645 ek ||
160 124 350 202 645
50 130 375 186 650 =30 | 15000
40 100 254 551 360 950 4000 3000
160 286 612 439 1005 =3 |
50 130 375 186 650 =30 | 15000
45 100 254 551 360 950 4000 3000
160 286 612 439 1005 = [ 12

OA h7 70 80 90 110 142 170 190
OB 54 64 75 90 115 140 160
OC h7 36 45 50 60 85 100 120
oD h7 74 84 95 15 147 175 195
OF h7 20 25 30 38 45 59 64
OF h7 14 19 21 29 36 46 52
G 52.5 56.5 51.5 55.5 65.5 79 85
H 12 12 5 6 7 8 8
I 20.5 23 25 26 32 38 42
J 20 21.5 21.5 23.5 26.5 33 35
K 6.5 6.5 . - « . ;
L 9 10 10.5 10.5 12 14 15
M 8.5 9 8.5 9.5 13 12
N 7.5 8.5 7 6 5 7 7
0 21.7 23.9 25.5 29.6 36.4 44 47.5
OP(P) (2.5) (2.5) 25.5 33.5 40.5 52 58
Q 3 3 6 6 6 6 6
R M3 M3 M3*6 M3*6 M3*6 M4*8 M4*8
oS 64 74 84 102 132 158 180
¥ 8 12 12 12 12 12 18
oU 3.5 3.5 3.5 4.5 5.5 6.6 6.6
oV 44 54 62 77 100 122 140
W ‘2;1;1” mﬁi’ﬁ* 16 16 16 16 12
X M3*5 M3*6 M3*6 M4*7 M5*8 M6*10 | MS8*10
oY 36 45 ; ; 2 : :
z 5.5 5.5 - : ; . ”

N
=
T
»
#
5l




N
—
i
%
%
5l

17

99

20 h7

B4 hT

ZLHS &5

DMz HT

gi..._.._. W=

oA hi

oM Wi

H7

DA h7 70 80 90 110 142 170 190
0B 54 64 75 90 115 140 160
@C h7 36 45 50 60 85 100 120
DD h7 74 84 95 115 147 175 195
OE h6 6 8 10 14 14 16 19
F 50.5 56 63.5 72-5 84.5 100 108
G 15 17 21 26 26 31 31
H 20.5 23 25 26 32 38 42
1 15 16 17.5 20.5 26.5 31 35
J 14 16 20 25 25 30 30
K 9 10 10.5 10.5 12 14 15
L 8 8.5 9 8.5 9.5 13 12
M 2.5 3 3 3 5 5 7
N 21.7 23.9 25.5 29.6 36.4 44 47.5
(0] 11 12 16.5 22.5 225 27.5 28
P - . 8.2, 110, 1%, 130, 15.9,,
Q 0.5 0.5 3%.025 5%0.03 5%.0.03 5%0.03 6%0.03
R = & 30-0.025 50-0‘03 50-0.03 50«—0.03 60-0.03
5 B - M3*6 MS5*10 M5*10 M5*10 M6*12
aT 64 74 84 102 132 158 180
U 8 12 12 12 12 12 18
v 59 35 3.5 4.5 S 6.6 6.6
oW 44 54 62 77 100 122 140
X | 16 16 16 16 12
Y M3*5 M3*6 M3*6 M4*7 M5*8 M6*10 M8*10

OA hé6 50 60 70 85 110 135 155
OB, 14 18 21 26 26 32 32
ocC 6 8 9 11 14 14 19
D* 28.5%, | 32.5%, | 33.59, 370, , 440, | 836, 580, ;
E 23.5 26.5 29 34 42 51 56.5
F* 5 6 4.5 3 2 2 1.5
G 2.4 3 3 3.3 3.6 4 4.5
H 14.1 16 17.5 18.7 23.4 29 32
I 7 7.5 8.5 12 15 18 20
J 6 6.5 7.5 10 14 17 19
L 17.69 19.5%, | 20.19%, | 2029, 229, 27.5%, | 27.99%,

OM, h7 70 80 90 110 142 170 190

OM, h7 48 60 70 88 114 140 158
0 8 12 12 12 12 12 18
P 3.5 3.5 3.5 4.5 5.5 6.6 6.6
OR 64 74 84 102 132 158 180
S 2 4 4 4 4 6 6
T, M3*6 M3*6 M3*8 M3*8 M4*§ M4*10 M4*8

T,(f ) ny 15* 15° 15% 15° 15° 10°
ou 44 54 62 77 100 122 140
v . . 10.4 12.8 16.3 16.3 21.8

W Is9 . " 3 4 5 5 6
%, lﬁgﬁ I?ﬁg} 16 16 16 16 12
X M3*5 M3*6 M3*6 M4*7 M5*8 M6*10 M8*10
Y, 03.5%6 | ©3.5%6.5 | 03.5%7.5 | ©4.5510 | @5.514 | ©6.6*17 | ©@9*19
¥ 0.25 0.25 0.25 0.25 0.25 0.3 0.5
Zi 4 4 4 4 4 4 4
Ta M3*6 M3*6 M3*8 M3*10 M4*16 M5*20 M5*20
Oc 31 38 45 56 73 90 101
d 1.7 2.1 2 2 2 2 2.3




N
—
T
»
%
5

19

.. ZLHS &7

LD D2 1K}
E1 Ez
=
-
L
% b=
4 s & B
o B L B
L _—

°° ZLHDZ?%!

OA h6 50 60 70 85 110 135 155
L &) 52.50.04 56.50_0_| 51.50.[}‘| 55.50.0_1 65.5%1 790.11_| 850.0_1
D;* 16,408 16,09 9.5,1-0 10411 12411 13511 13.541-!
D, 23.5 26.5 29 34 42 51 56.5
D,* 13 14 13 11.5 11.5 15 15
E, 2.4 3 3 3.3 3.6 4 4.5
E, 14.1 16 17.5 18.7 23.4 29 32
E; 7 7.5 8.5 12 15 18 20
F 6 6.5 7.5 10 14 17 19

0G H6 48 60 70 88 114 140 158

OH hé6 70 80 90 110 142 170 190
P, 3 3 6 6 6 6 6
P, M3(T42) | M3(Tl ) M3*6 M3*6 M3*6 M4*8 M4*8
Q, 8 12 12 12 12 12 18

0Q, 3.5 3.5 3.5 4.5 5.5 6.6 6.6
OR 64 74 84 102 132 158 180
08 - - 25.5 33.5 40.5 52 58
T 2 4 4 4 4 6 6
T, M3*6 M3*6 M3*6 M3*8 M4*8 M4*10 M4*10

Ts(F ) 905" 1 15° 15° 15° 15 10°
ou 44 54 62 ¥ 100 122 140
\'8 lﬁfizﬂ' 2%;;?2} 16 16 16 16 12
Vs M3*5 M3*6 M3*6 M4*7 M5*8 M6*10 M&*10
v, 03.5%6 | ©3.5%6.5 | ©3.5%7.5 | 04.5*10 | 05.5%*14 | 06.6*17 09*19
W, 4 4 4 4 4 4 4
W, M3*6 M3*6 M3*8 M3*10 M4*16 M5*20 M5%20
0a 38 45 53 66 86 106 119
b 1 1 1.5 1.5 1.5 2 2
Oc 31 38 45 56 73 90 101
d 19 21 2 2 2 2 2.3
of 14 19 21 29 36 46 52

50 3.2 10.5 4.3 21

14 8000 3500 =3() 12000
100 5 17 o 32
50 10 21 16 44

17 7000 3500 | =30 |12000
100 14 34 25 67
50 14.5 36 21 65

20 100 25 33 31 89 6000 3500 =30 12000
160 25 59 31 89
50 24 65 34 121

25 L - 192 (L 133 5500 3500 | =30 |[12000
160 43 115 70 196
50 49 143 70 249

32 100 91 225 143 401 4500 3500 =30 12000
160 9] 249 143 420

SNAHTZ

20



N
=
o o
=)
A
5

21

’OZLHD?@U

Ez

.e ZLC S - MmN 2R o —

o | S
|
b - | g 149
- N g8 T o 88 ¢
L= =1 2 =1
|
1=
i
BS ®S 14 17 20 25 32
OA h6 490016 590010 690010 8490 022 1100 52
0B| 39. 1“4'0.| 4&)+0,| 56‘8"*0‘| ?0.50'0.] 92“'"0‘1
B, 0.8,0-15 1.1,0-28 1.4,+0.25 1.74+9-25 2,0-25
aC H7 ] lﬂ+n.nlu |50+0.018 zouw.un 24B+0.021 320*0_025
D 17.5404 18.5+0, 1940, 2249, 27940,
E, 159 16.5 17 20 23.6
E, 2 2 2 2 4.3
E 2.4 3 3 3.3 3.6
G 1.8 1.6 12 0.4 0.6
H 4% 5%, 52,4, 6.3% 8.6%,
(i 15.7%.2 16.9%, 17.8%, 21.6%, 27.3%.,
Q) h7 70%.03 80 03 90°.9 035 110° 035 14206 04
OK H7 500+|].l325 6 10+0,03 7|0+[|,[}3 880+u.035 1 140+u_035
OM 3.5 3.5 3.5 4.5 5.5
a0 64 74 84 102 132
Py 2 2 2 4 4
P, M3 M3 M3 M3 M4
P 6 6 6 8 10
P, 225" 15 15° 15° 15°
0Q 17 21 26 30 40
R, 4 4 4 4 4
R, M3 M3 M3 M3 M4
oT 43 52 61.4 76 99
U, 8 12 12 12 12
U, M3 M3 M3 M4 M35
V 4.5 4 4.5 6 8
X, Cco0.4 Cc0.4 C0.5 Co0.5 C0.5
X, co.4 co.4 Co0.5 0 C0.5
Zi 57,101 68.1,"01 78,70 94.8,"0-! 123,101
7> 241025 2,10-25 2.7,+025 24,1025 2.7,+0.25
Oa 36.5 45 53 66 86
b 1 1 1.5 1.5 2
Oc 31 38 45 56 73
d 1.4 1.8 1.7 1.8 1.8

30 0.21 0.45 0.85
50 0.35 0.8 1.65 12000
100 0.55 1.25 2.5
30 0.8 1.66 3
50 1.65 3.1 6.1 12000
100 2.25 4.35 8.2
30 2 4.1 8
50 3.1 7.8 15 12000
100 4.5 10 22
30 3.8 8.5 16
50 5 17 32

12000
80 7.3 21 43
100 7.3 25 49

=S J1Z

I

=N

=



AN 1Ulw-S377

23

.e ZLCS-mini& %!

0A 29 43.5 58 73
B* 20.5 31 38.3 45
c 15.7 24.5 30 37.5
D* 4.9, 6.5 5 8.30,, .
E 12.7 19 23.5 28
F 3 5.5 6.5 9.5
G 1.3 1.5 2 25
1" 2 3 3 5
I 0.5 0.5 0.5 1.5
J 2 2 3 2.5
K 2 9 2 2
L M2+3 M2*3 M3*4 M3*4
M 1.7 2.2 2.5 3.5
N 6 12 16 17.6
0 4.85 7.3 9 11.4
OP h7 20..5 31 40.5 51
0Q 13 20 26.5 33.5
OR H7 5 9 12 15
0S h6 17 26 35 43
OT H7 3 3 5 6
Ou 22t 32%0.46 43%0.5 53%0.5
oV 9.8 15.5 20.5 25.5
oW 25 37.5 50 62
X 3 4 6 6
Y M2#3 M3*4 M3*5 M4*6
a 2 2 2 2
b M2 M3 M4 M5
c 2 2 3 2
0d 2.3 3.4 45 5.5

. . ZLSF &%

n B,
mEHE,
B EEE.

‘\
N1l

1 50 3.1 7.8 5 15 5000 | 3000 9000
100 4.5 10 8.2 22 =25
30 3.1 6 4.5 12
14 50 < 12 5.5 25 5000 3000 . 9000
100 6.6 18 8.5 38 =25
30 6.5 12 9.5 24
i~ 50 12 25 18 50 5000 | 3000 e 9000
100 16 37 28 71 =25
30 1 20 14 32
=30
5 50 17 41 24 68 5000 | 3000 9000
100 28 60 34 98 =25
[l T-L S
O 2840 BYLER 150~500g;
O BRE: ZYEE20~27.6mm;
O hzs8: aREPTSFE,
BRIV
O 98 RE. BHOUSEA;
O S SEERDENEA.

N
=
T
o
%
il




25 |

. ° ZLSF &5

A

WL D

a

o6 ¥ P
21 h7

AN

2u 17

N

ol

B

55 69 80 95
B 20 21.05 24.6 28.6
C 7 7.9 9.5 12.3
D 10 10.5 11.5 1.5
E 3 2.65 3.6 4.8
F 1 1 0.5 0.5
@G 38 49 S3 61
d1h7 35 46 50 58
@1 H7 5 5 6.35 6.35
J K H7 9 13 16 16
L 18 23 30 32
@ MH7 24 30 40 50
N 34 42 50 69
@0 45 56 67 82
P 0.85 0.85 0.85 0.85
Q 9.8 9.7 11.4 12
R* 0.8 1.5 1.4 25
T 2 2.9 3 3
U M3 M3 M3 M4
Vv 2.5 2.5 2.65 3
aw 29 35 45 56
X 8 8 10 16
Y M2.5x4 M3x5 M3x6 M3x6
Da 50 63 74.2 88.5
b 3 3 - 4
c M2.5 M3 M3 M3
d 6 6 8 8
De 2.6 3.5 3.5 3.5

miTEE~mARY!

ZLSST
BT

ZLHZL
FOREEHLE

< &

ZLSM
tRAEERECE

ZLSG
HiER

ZLSI
REREE

B M,
mE R
m AIEM,

26



N
”
n
_'
EX
5

27

.' ZLSST&R5

@K HT ¥ L

I

61

g1

¢4

30 2 4.1 3.1 8
=30
11 50 3.1 7.8 5 15 5000 | 3000 9000
100 4.5 10 8.2 22 =25
30 3.1 6 4.5 12
=30
14 50 3.8 12 5.5 25 5000 3009 9000
100 6.6 18 8.5 38 =25
30 6.5 12 9.5 24
=30
17 50 12 25 18 50 5000 | 3000 9000
100 16 37 28 71 =25
30 1 20 14 32
=30
o 50 17 41 24 68 5000 | 3000 9000
100 28 60 34 98 =75

B 50.1 60.05 70.1
C 27.5 34 42
D 22.6 26.05 28.1
E 10 10.5 11.5
F 1 I 0.5
?G 353 423 56.4
a1 34 42 50
a] 45 56 67
D KH7 9 13 16
L 4 S 6
M 6 6 8
IN 2.6 8.5 3.5
g0 50 63 74.2
ap 18 23 30
2Q 24 30 40
R 2 2.9 3
ags 29 35 45
T 8 8 10
du M2.5 x4 M3x5 M3x6

N
»
7
_|
EN
5l

28



P 5

’ZLHZL 5

A
= T f u

3. ~ L*
ST M-N g

]

]
= ==
2
&F 17
@G 7

o
@P KT
[+ 1]

N
T
N
—
EN
2l

29

30 0.21 0.45 035 | 08s

5 = o s 03 165 1 000 | 3500 | =30 [ 12000
100 | 055 1.25 0.88 2.5
30 0.8 1.66 1.25 3

8 3 Rt L 5 i 8000 | 3500 | =30 | 12000
100 | 225 4.35 3 8.2
30 2 4.1 3.1 8

w | 3l el : 2 8000 | 3500 | =30 | 12000
100 45 10 8.2 22
30 3.8 8.5 6.5 16
50 5 17 6.5 32

14 8000 | 3500 | =30 | 12000
80 73 21 10 43
100 73 25 10 49

YHoHEREBRRA M

B 37.25 51.5 60.2 67
G 2335 315 372 41
D 13.5 20 23 26
E 10 18 21.5 24
F 15 22 29.1 37
@ Gh7 3 3 6
1 + 6 6.7 6
J 4 2.5 3.5 2.8
K 6 12 16 17,5
L* 0.05 5:5 6.15 5
M 2 2 2 2
N M2 M2 M3 M3
(0] 2 2 3 255
dPh7 5 8 12 14
Q 4.5 7 10.5 13
IR 13.4 21 27 36
S 4 6 6 6
T M2x4 M2x5 M3x6 M3x6
X 3 3 6 4
ay 2.2 2.5 35 2.5
a7z 3.5 4.7 6.2 4.5

N
T
N
%
5l




N
%
-
N
5l

%ZLSM 75

%ZLSM 75

1B}

P x P

[0}
2l

ok

@I b7

g h7

50 5 17 6.5 32 =30 15000
14 8000 3500
80 7.3 21 10 43
100 7.3 25 10 49 =25 12000
30 8.5 15 11:5 28
50 15 31 23 66 =30 15000
17 80 20 39 24 84 7000 3500
100 22 48 35 84
=25 12000
120 22 48 35 84
30 25 47 35 91
50 32 91 51 179 =30 15000
80 57 125 82 243
25 5500 3500
100 62 146 101 267
120 62 155 101 289 =25 12000
160 62 167 101 303
30 50 93 70 190
=30 15000
50 72 205 102 360
80 110 290 158 546
32 4500 3500
100 124 312 202 618
=25 12000
120 124 333 202 645
160 124 350 202 645

OAh7 73 79 107 138
(B) 84.8 88.6 105.8 139.5
(6 39.8 39 45 67
D 1 12.6 14.8 15
E 34 37 46 57
G 7 8 10 12
H 3.5 4 5 4.5

I 0.5 0.5 0.5 1

@) h7 56 63 86 113
0K 55 62 85 112
oL 42.5 49.5 73 96
oM 31 38 58 78
Op 42 56.4 56.4 86

OQH7 11 10 20 26
R 9.4 9.5 12.2 15
S 65 71 96 125
T 8 8 10 12

4.5 4.5 5.5 6.6
% 8 8 10 12
w M4 M4 M5 M5
0X 23 27 42 55
4 6 6 8 8
z M4 M35 M8 M10

31

N
%
=
EA
5




N
%
-
ES
5

33

” ZLSM &5l

w ZLSM &%

B)

00 x 0

1 momMm R

.8

@47

50 5 17 6.5 32 =30 15000
14 8000 3500
80 7.3 21 10 43
100 7.3 25 10 49 =25 12000
30 14 25 18 47
50 21 52 31 91 =30 15000
80 30 70 42 115
20 6000 3500
100 35 76 43 138
120 35 81 43 138 =25 12000
160 35 84 43 138
30 25 47 35 91
50 32 91 51 179 =30 15000
80 57 125 82 243
25 5500 3500
100 62 146 101 267
120 62 155 101 289 =25 12000
160 62 167 101 303
30 50 93 70 190
=30 15000
50 72 205 102 360
80 110 290 158 546
32 4500 3500
100 124 312 202 618
=25 12000
120 124 333 202 645
160 124 350 202 645

AANT 73 93 107 138
(B) 178 173.55 209.1 237
C 133 117.5 146.5 156.8
D 11 18.05 16.6 23.2
E 34 38 46 57
F 2 5 15
G 10 10 12
H 5.5 5 4.5

I 4.5 4.5 5
J 0.5 0.5 0.5 1
OK 31 45 58 78
oL 42.5 58 73 96
oM 55 70 85 112
ON 56 72 86 113
o 40 60 60 80

AP HT 11 14 20 26
Q 9.4 9 122 15
IR 23 32 42 55
S 6 8 8 8
’E M4 Mé6 M8 M10
au 65 82 96 125
v 8 8 10 12
W 4.5 5.5 53 6.6
X 8 8 10 12
4 M4 M5 M5 M6

N
%
=
EA
5




N
»
()
%
il

35

@ ZLSGZF

30 3.8 8.5 6.5 16
50 5 17 6.5 32 =30 | 15000
14 8000 3500
80 7.3 21 10 43
100 7.3 25 10 49 =25 | 12000
30 8.5 15 1.5 28
50 15 31 23 66 =30 | 15000
17 80 20 39 24 84 7000 3500
100 22 48 35 84
=25 | 12000
120 22 48 35 84

@ ZLSGZF

N P9

o £ o)
o o)

[

@1 KT

Pl hT

B 110.3 112.7
(o 39.8 39
D 3 9
E 67.5 64.7
F 6.5 2
G 21 25
H 1.5 1
1 7 10.5
@Jh7 12 12
OK h7 24 33
@Lh7 32 48
OM 42 56.4
N P9 5 4
Q 9 10
R 8 71
S M3*8 M3*12
T 37 54.5

N
»
@
2
5




N
”
()
ES
il

ar

& 715GE7]

P 7LSGET

50 5 17 6.5 32 =30 15000
14 8000 3500
80 7.3 21 10 43
100 7:3 25 10 49 =25 12000
30 14 25 18 47
50 21 52 31 91 =30 15000
80 30 70 42 115
20 6000 3500
100 35 76 43 138
120 35 81 43 138 =25 12000
160 35 84 43 138

B 183.4 200.9
C 108.9 117.5
D 7 17.4
E 67.5 66
F 6.5 3
G 21 25
H 1:5 1
I 7 15
@J h7 12 14
OK h7 24 44
OLh7 32 50.8
OM 40 60
NP9 5 5
Q 9 1
R 8 8
S M3*8 M3*16
T 37 64

N
»
@
2
5




L WARER

&, 71 SIZ7|

C 1]
E
¥ o
| o | =1
1
|
aN
P hl
2Q h7
50 - 52 3l 9 =30 | 15000 A 140.5 170.6 199.2
20 6000 3500 C 174.5 198.5 220.8
100 35 76 43 138 D 65 75 90
E 117.5 146.5 156.8
120 39 81 43 138 =25 12000 F T 5 =
160 35 84 43 138 G 97.5 119.6 127:2
I 15 15 27
30 25 47 35 91 ] 28 36 45
50 12 91 51 179 o || s K 0.5 0.5 1
L 4 4.5 4.5
80 57 125 82 243 OM h7 45 58 78
25 5500 3500 ON 70 85 112
100 62 146 101 267 pe— = e -
120 62 155 101 289 =25 12000 Qb7 23 107 138
R 65 73 90
160 62 167 101 303 s 60 60 {0
OTH7 14 20 26
30 50 93 70 190
A 9 122 15
=30 | 15000
50 72 205 102 360 Oa 32 42 55
b 8 8 8
80 110 290 158 546 ~ Mé M8 M10
32 4500 3500
1
100 124 312 202 618 @d g2 2% 25
=25 | 12000 e 8 10 12
120 124 333 202 645 f M5 M5 M6
g 8 10 12
160 124 350 202 645 ; . 0 e

39




FE 2 7 (S 2 57— ZLCE-LM %%

-

ZLCE-LM-R40-50-C

N
ZLCE LM R50 50 C R
£l L EEME IR O R: RS485 m
HaE 40/50/60 30/50/100 | © C: CAN s
5
ZLCE-LM m R BRI,
HHERT i hAE=.
1 AR EE 30 50 100 30 50 100 30 50 100
2 BMEHIENmM)| 2 3 4.5 3.8 5 7.3 8 14 21
3 | iz |BIFHENM)| 4 7.5 | 10 8 15 | 20 15 | 31 45
ZLCE-FM m R & - BRE HEENm)| 7 12 18 15 28 41 25 60 75
BHRS = ERE: 2, -
5 =50 | =45 | =45 | =45 | =45 | =50 | =45 | =45 | =50
(Arcsec)
6 T 0.1 0.27 0.33
(Nm)
7 &gﬁ)ﬁ 0.25 0.55 0.85
Bl -
8 R 3000 3000 2500
ZLCE-GM m R~ &, (RPM)
FEey ] m 75 @, 9 i 13 3 36
10 {Sm:f) @35* 64 @45* 83 @60* 83
B
11 ER 0.4 0.6 0.9
(kg)
2 | sEs ﬁ;ﬂ 14bit
ZLCE-RM M i iiE
= 13 i [m] RS485 / CAN
525 B (ERKEE: TURADEE;
’ m XA EFNE. 14 | B9E | pHsE B 10KHz / EEH: KHz
15 R IPINBE EiE. 38 AR, ZE. XE. BE

41 42




Z LCE-F M 22 71| 500mmmssssssss ZLCE-GM &%

ZLCE-FM-R50-50-C ZLCE-GM-R70-50-C
ZLCE FM R50 50 c ZLCE GM R70 50 C
£l R ZAREE HRENIG HELY O R: RS485 £l R BRRE EEAMIE BIELL OR: RS485

50/70/80/90 30/50/100 O C: CAN 70/80/90/110 30/50/100 | © C: CAN

N
o
m 1 IR EE 50 100 | 50 100 | 50 100 [ 50 100 1 IR L 50 100 | 50 100 | 50 100 | 50 100
]
L
< / BMEHBENm) 3.1 4.5 3.8 6.5 12 16 17 28 2 FEHBENm) 5 7.3 15 22 21 35 32 62
;?ﬁ 3 | BEH | BEHEENmM) 7.8 10 12 18 25 37 41 60 3 AIEMN | BEHRENM) 17 25 31 48 52 76 91 146
4 i (B H ZE(Nm) 15 22 25 28 50 71 68 98 4 B3 E) H4E(Nm)| 32 49 66 84 91 138 | 179 | 267
5 L =45 | =45 | =45 | =45 | =45 | =45 | =45 | =45 5 W R =40 | =40 | =40 | =40 | =40 | =40 | =40 | =40
(Arcsec) (Arcsec) N
—
6 Wi 0.1 0.27 0.33 0.39 6 HEHE 0.15 0.35 0.55 1.2 O
(Nm) (Nm) !'l"l
7 U {8118 58 0.25 0.55 0.85 I 7 b {11 58 0.4 0.8 1.4 32 Q)
B Lk i (Nm) =
e R 8B
8 Bria) 3000 3000 2500 2800 8 il 3000 3000 3000 3000 %
9 HE B 1.3 3 3.6 4.5 9 BERR 1.6 4.6 5.1 8.6
(A) (A)
10 fn:) @52" 44 268 * 49 281" 58 295 * 62 10 (Rm:) @70* 51 280 * 62 @90 * 60 @110* 72
BN —_ #
11 0.28 0.34 0.45 0.6 11 E R 0.7 1 1.4 2.2
(kg) (kg)
iR IR . iR EIR .
12 | 4S8 14bit 12 dmED e 14bit
SE ' % ‘
13 #ifiEO RS485 / CAN 13 #iED RS485 / CAN
14 | EzhF 2 I B HBRIR: 10KHz / EEF: 1KHz 14 Xz 8% FHER BRIF: 10KHz / EEH: 1KHz
15 1R 3IPThRE RiE. TR BE. 3F. XE. R 15 RIATHEE R#E. 38 @8, 3F. RE. BR

43




ZLCE-RM  Z2 771|500 i & S 250

ZLCE-RM-R60-B-E

i
ZLCE RM R60 B E LD-\
ElrTR XT5HEE EEMIE O B: FH%E O E: EtherCAT Fz
60/70/80/90/110| © N: % O C: CANOpen T
B 21 o 5
1 I EE 50 100 50 100 50 100 50 100
2 i 1% 5 7.3 15 22 21 35 32 62
(Nm)
; BiEHE
3 ik 1% #L (Nm) 17 25 31 48 52 76 91 146 ZLCE-RP mR: &
4 Bﬁ';?fi)ﬁ 32 49 66 84 91 138 179 | 267 HELIEEEFA B 54 hF,
5 B R 40 | =40 | =40 ~40 -40 =40 ~40 ~40
(Arcsec)
BEhE
6 . 100 200 400 750
7 RS 0.42 0.9 1.76 4.3
s 4] (Nm)
8 e (7 38 1.4 28 5.2 1.7
(Nm)
9 Tk R 3500 3000 3000 2000
(RPM)
10 R < @70* 85 @80 * 100 @90* 105 2110* 130
(mm) v A A, X,
24 ZLCE-RP m 5. EAXEmRE,
S
11 ke) I 1.5 2.2 3.4 BRI m BT 55,
N 12 i 20bit
— wms | ARE ;
O i & 3
M 13 ~ 19bit
;ID oy iR
= 14 | #Izhge HI =h 2% B E B H5h =%
E 15 #ED EtherCAT / CANOpen
|
§J 16 | Bzhzs | #HIHFR BRI : SOKHz / REIF: 10KHz
17 R #PTh EE RiE, ZB. B, 3FE. XE. B

45 46




ZLCE-RP %\7,5[] -

A Product Overview

Terms and definitions
RIEFIENX
BTURIE BEPEIEENPSEIEERN, ERESREERRAVKE TR EIEUS<EREE
_ | g e =y | o ' _ 2 e Pawl torque ERE., XHINSERATN, WARERIRAIRIRE, NREERTIMSIGE{EEIEE,
£ kU= FEEE _ﬁﬁ_ !k E&_ ﬁﬁ B ﬂﬁ- ﬁﬁ- SHTFRMEENTENERNLSHISLAERIER . BERAERMANERSES.

KE %E ”& ﬁﬁ 5ia *ﬁ Hw When excessive shock torque is applied during operation, the meshing between the rigid
wheel and the flex wheel gear will momentarily shift without damaging the flex wheel or the
like. This phenomenon is called pawl, and the torque at this time is called pawl torgue. If

Arc the pawl phenomenon continues to run, the gear will wear early due to the wear dust
/ i / Nm Nm Saic RPM / Kg | Hour generated when the pawl occurs, shortening the life of the wave generator bearing.
N
(&) ZLCE-RP-M- =10 B ahiEE MEEEIEIE RIS Harmonic Drive (B3EZEFE(K, @M ((EEN ) MEINGEERT, WHAM
m 65-30-s | 30 [ 4 | 9 [ S35 o |57TE | Skg | 8000 e (RS0 ) FHATS— IR0 “ERTFAE" .
;IU 65 starting torque BEIE FFIROSERBAME, TRELDBAMEN 1/2,
G E The speed-increasing starting torque refers to the "starting starting torque" that is
7LCE-RP-M- generated when the input side (high-speed side) starts to rotate when the Harmonic Drive
% 65-50-S 50 5.4 12 <35 | <60 | 57 7Tkg | 8000 is assembled into the housing and torque is applied to the output side (low-speed side).
X The numerical value shown on each series table is the maximum value, and the lower limit
§| _I value is about 1/2 of the maximum value.
ZLCE-RP-M- <10
e
70-30-S 30 8.5 15 <30 0 574 | 15kg| 8000
70
] .
—— Model selection
50 15 32 <30 | <60 | 57# | 25kg | 8000
70-50-5 =r
RISIEE

AEBERRRRNFRE—ERREREEIORT, MAER
MaHWIELRETW, B, FUENBRERAMNIEEER.
s, ELHATERARPEIEE .

BERXLEENRULBREHFIRREE, LHRESHE
iE. W, BARA, HEPRENEREZEEM (MEE=8)
&t FREMEXLRTHAE, Hit, WRARXAKBNE, XX
. RTRRNEREDLIRBSEZLRY.

W GEAIERAYIRIA

B, wARRREEENE, BRRigE
First, it is necessary to grasp the load torque mode. Graphic load
torque mode

- L e | R | B | 2 | B&E | ER& | &
RAL| BB e | s | mm | s | 2 | e | se
The reducer is in a state where the servo system is almost 4+ T %
continuously running with a certain load, the input speed and .
load torque will change, and there will be a large torque effect : —
/ / / Nm | Nm ‘:;E RPM |/ Kg | Hour when starting and stopping. In addition, unpredictable shock fgpe \

torque may also occur.

By converting these variable load torques into average load it &)
torques, the model selection is implemented. In addition, in the Ta
ZLCE-RP-S- 75 4 8 <35 42iE 4kg 8000 combination type, precision cross roller bearings are assembled t tz t3 ta tn
80-75-P 0 directly to the external load (output flange part). Therefore, o 4 -
80 please confirm the maximum load static moment, the service life /
3| of the cross roller bearings and the static safety factor. i i 4

ZLCE-RP-M- n
80-75-P 75 12 20 | <30 [ <60 | 57# | 15kg | 8000 X, e, nhFISE. T

Ta

47 48




49

FrEatiti®R Product Overview

T & A e E
k%3 T. (Nm)
it i t. (sec)
47 ] ¥ i n. (r/min)
GRS ERD

2 Zhst Tix tis i
IE IRt Tos tas M
Bk CaaE) BF Too tae
1240, B+t Tax tas ns
<MEEE>

£ L no max
1 A N4 3 ni max
(i FE O St 1T IR o )

R E>
AR EEAER T teons

CERERHH>
Lie=L (BT}IS'J )

JnEEE R T H B

PN Hr H H. H

RIE f R AUt B GHarmonic Drivess i A MEY
Fiynd
$£46: Tav (Nm)

Tav 34 N ot o T30 set oofT o3+on oot oofT o3
m et tn 2ot stenneta

REBLUTEAEREERE. Tav< FURBBENBTEEXE

(BRERIIMNWMER)
TR e _mstitmetzt=m*ts
noav (r/min) B ti+ t2 4 ta
WERELE (R) - ni max

ni mo 2 RBEDNSHTES. omar N

RIBEHHMHEE (no av)
FugEtE (R) HHHEY
WASEE: niav (r/min)

RIBEWWHEE (no max)
FudiEtE (R) IHHHEBS
WNYEE: ni max (r/min)

niav = no av*R

ni max = no max R

BNEMHEENRESRSE ni o <EFFHHAEE (r/min)
EWERMMLIA. ni max<EFBBWMAFEE (r/min)

<

AT, TR EFLTHEREHE LB IFEEEE
(Nm) BAEELA .

<

WATRELATEERMBREOFIFRABE (Nn) BELA.

<

RAR o o i o 4% AE R 0 36 10¢
HEEn B E e, W N=——— (38)Ns<1.0X10¢ (85)
HEFRHE, AMARE ,, n: R t

60

HEEREN.

s ABenE. Lo=rooo (1) (L) (atia)

BAMTEHNERSFSNERES TREAESNERSS

BiE. (SHE011751)

HEEE

Speed reducer installation guide

SRR R RIZBH
SRR

Precautions before installation

1, EREREVIEEBFENMETRE, REIRPIER
IS NREIEPIED, BREMSRPITRIERRIRIE,

2, WEARERSRAELURES MRS REFREER.

3. SRFBERBENZEFEMMTER.: FmE.01lmmSi
SEEE0.0ImmORL AL akiBFL SO E/OEO. 1mm,

ZL-CSRFI(RIECEIE . FieHt)

1. The harmonic reducer must be installed in a sufficiently clean

environment. During the installation process, no foreign objects
can enter the reducer to avoid damage to the reducer during
use.

. Make sure that the gear surface of the reducer and the flexible

bearing are always lubricated.

. The processing requirements of the installation plane

connected with the reducer: flatness 0.01mm and axis
perpendicularity 0.01mm, threaded hole or through hole
concentricity with the axis 0.1mm.

ZL-CS series (rigid wheel fixed, flexible wheel output)

T 4 L Sk B T R
2
.
(EiY:

RESE
Installation steps

1. BHEANEEX=, TEE= ERNORTHE,

2. BERNEABEES, FHEZREARAOREHE, B¥%
R ST R T R .

3. ERREREENERH, FABLORILEM60% 0 SESEH
i) , EREREHA CSRE EMEEERHE (FRH
fERASNRENSG=ERN, SmRER) , BiRRER
SESREYER (KRR EEIRR LRI R R
KHgm, ARENERER) , BYMARITEL R AIE
EEEEEM L.

4, BEBENEEREI00~200r/minZEs, BB, ERESHES
598, THEAEELERS.

FREEREENSEIER LRSI, LLERETEN
AR 0 /N

11-

3
e

. Install the motor into the fixed flange, pay attention to the O-

ring on the flange.

. Install the reducer into the fixed flange, pay attention to the

bottom surface of the flange into the O-ring, usually tighten
the bolts in a diagonal sequence.

. Inject lubricating oil into the flex wheel, the injection volume is

about 60% of the flex wheel cavity (near the tooth surface
height), and evenly apply the attached lubricating grease on
the flexible bearing (mixing different greases will affect the life
of the reducer, Therefore, it is strictly forbidden to use), first
assemble the wave generator with the reducer (note that the
long axis of the wave generator is aligned with the long axis of
the flexible wheel of the reducer during assembly, and then
rotate the wave generator), and use the corresponding screws
to fix it through the limit piece On the motor shaft.

. Set the motor speed to about 100~200r/min, start the motor,

run in forward and reverse for 5 minutes, and you can enter
the normal working state.

50



51

FrEatiti®R Product Overview

ZL-SHZE%I
ZL-SH Series

SRR 2 SRR AN .
It is sufficient to install the appropriate synchronizing wheels for the whole group of reducers.

HEFRSONIERER
Recommended thread tightening table
IRETIEREG R 12.94%
YRELNFREEmm N.m
3 2
4 4
5 9
6 15
8 35

RefFRAN
Screw tightening method




